" ’ Power needs control

[CP X-2E12 \

SOLID GSX Enclosure system

for EB/ED 125 3P/4P and EB/ED 160/250 3P/4P CP1-2E12 001101514 CP22-2E12 001101517
(ostony do EB/ED 125 3P/4P i EB/ED 160/250 3P/4P) [ i
Mounting instructions @ @ @
Montage anleitung 250 mm ks 550 mm g
(8D Navodilo za montazo CP1.4-2E12 001101515 CP3-2E12 001101518
Instrukcje montazu i F :
Upute za montazu @ @ @ @
€2 Montazni navod
350 mm E 750 mm g5
(SK> Navod na montaz
(HU Szerelesi utmutato CP22E12 001101516 CP3.8-2E12 001101519
D Montavimo instrukcija
VIHCTpYKLUS 32 MOHTaxK =i EH =i B B
(V) Montazas instrukcija 500 mm e : 950 mm
EsD Paigaldusjuhend
_ _ Closed Closed __
12 ) 12 =—— o] —= 12|0)=—=|- 12
5 902 5 o
Position 1 cut out / remove 1 fgﬁﬂ 9 11 o 11 9 i 1
(wyciac / usunad) 10 ool ol10 pen 10/0) oo 10
EB2/ED2 125A3P - Al 9 ® @;— o| 9 9 |0 au@n 9
- - of o o o
Eggggg ggfi%A 3P _ 2} . g} 8 9 ‘- -—|O| 8 A2 B2|C2| D2 A2 B2(C2|| D2 8 |O|—= -‘ 8
EB2/ED2 160/250A 4P - A1 - D1 E 7 0d e 0| 7 7 |0 oo 7
o ° ° Al B1(C1] D1 A1 B1]C1{| D1 ° |
g 6 oo O| 6 6 |0 oo 6
S . s s .
. 5 @ n =—|O| 5 A2 B2|C2| D2 A2 B2|c2| D2 5 |O|—=— g ®) 5
Position 2 cut out / remove = m@h o o o =
(wyciac / usunad) 4 L @‘ — (03 4 ® \R\\) 4 9 N @‘ ) 4
3 oo o| 3 2\ 3|0 oo 3
EB2/ED2 125A3P - A1, A2 oll’s s Open cPPLER] Open s o |lo
EB2/ED2 160/250A 3P - A1,2 - B1,2 2 || eo 0| 2 - 2|0 oo 2
EB2/ED2 125A 4P - A1,2-C1,2 o ° D = ° o
EB2/ED2 160/250A 4P - A1,2 - D1,2 11 Al o1 —— Et]— 1 CEIVA
Closed Closed
Screwdriver flat-blade
(Wkretak ptaski)
WP-A
No. Type ETI Name Pcs. WP-U
1 LGV Supp.ort 4 Hole-position marker No. | Type ETI ‘ Name [Pes.
2 |AST 4.8x9.5 Tapping screw 8 left-down 1 |AST 4.8x9.5 | Tapping screw | 4
3 |AW-RES Washer M5 DIN9021 Zn 4 (Otwor-znacznik pozycji
4 |AS-C5x10 Screw M5x10 DIN7985 Zn 4 lewy dolny rég)
Position 1 Position 2
WP-A
- N WP-U
—
YRS L N Vv
o ) Q
2 Q
Q LN B
Q 0 Q -
Q 0? S W o §
Q ) Q
Q © 0? N N N
Q 0
O | || &2 % o °
) e N
S
Q o2 N B
Screwdriver PH2 N ° e Q W\
(Wkretak PH2) Q 2? N ol
N
~ L

B16.08 | 981000499

[172]




" ’ Power needs control

CP X2 E12 \

No. Type ETI Name Pcs.
1 |Included with EB2/ED2 Screw M4x55 DIN7985 Zn 2
2 |AW-R4 Washer M4 DIN126 Zn 2
3 |AW-S4 Washer spring M4 DIN127 Zn | 2
4 |AN-H4 Nut M4 DIN934 Zn 2

No. Type ETI Name Pcs.
1 [Included with EB2/ED2 Screw M4x55 DIN7985 Zn 4
2 |AW-R4 Washer M4 DIN126 Zn 4
3 |AW-§4 Washer spring M4 DIN127 Zn | 4
4 |AN-H4 Nut M4 DIN934 Zn 4

Screwdriver PH2
(Wkretak PH2)

Screw M4x55 | 1,7-2,2 Nm

OETAIL A

SOLID GSX Enclosure system

Breakers (EB) and switch disconnectors (ED)
montage in specified holes (colour points)

(Wytaczniki (EB) i roztgczniki (ED)

montowaé w otworach oznaczonych
odpowiednimi kolorami)

@ cBED1253PIAP

@ EBED 160/250 3P/4P

PM1E12L12

% ®o
o °
° o
% °© o
o o
o] o] o] o
o o
® ° ° 5
% o °
PM2E12L12
;e e 0%, %
o
% e o o o ° e o
o o o o o
] ] ] o] o] o o
o o o o o
© ° o o o ° ° o
%% o o O g ge °
PM 2.2 E12 L12
fe, e o S, e o o
% °© o o o °© o
o o o o o
o (¢) o o o o )
o o o o o
© o o o % o o
° o °
% e° ° % o® °
PM 3 E12L12

o o o o
0% ° o 0 ° o
o
o o ° ° o o °
o o = o o
o o o ) ) ) o o
o o = o
° o o o ° o o
o o °
° o o o
® o° ¢ e°

%o

00
00

PM 3.8 E12L12
o o,
o o °
° o
° o o o © °© o
o o o o
o o o] o o o o o
o o o o
0 O o o o ° o
o o
° %% e °

/O

Hole-position marker
left-down
(Otwér-znacznik pozyciji
lewy dolny rog)

B16.08 | 981000499

22




